Opérations Mixtes (C)

Effectuez chaque opération.

S5x5= SXT= 205 = 1 x5=
5x6= 305 = 45+5 = Sx11=
S5x7= 95+5= 5x19= 10 x5 =
10x 5= 305 = 5x20= S5x18 =
55+5= 40+-5 = I5x5= 5x14 =
90 =5 = 30+5= 19x5= 7Tx5=
80+5 = 605 = I5x5= 17x5=
705 = 19x5= Sx11= 13x5=
605 = 75+5= 5x5= 75+5=
105 = 11 x5= 405 = 30+5=
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Opérations Mixtes Solutions (C)

S5x5=25
5x6=30
5x7=35
10 x5 =150
55+5=11
90-=+5=18
80+-5=16
70=-5=14
60=-5=12
10+-5=2

Effectuez chaque opération.

5x7=35
30=-5=6
95+5=19
30+-5=6
40+-5=28
30+-5=6
60=-5=12
19 x5=095
75+5=15
11 x5=55

20+-5=4

45+5=9

5x19=95

5x20=100

I5x5="75

19 x5=095

I5x5="75

S5x11 =55

5x5=25

40+5=38

I x5=5

5x11=55

10 x5 =150

5x18 =90

5x14="70

7Tx5=735

17 x5 =285

13 x5=065

75+=5=15

30+-5=6

MathsLibres.com




